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(_ogF D Q101 A
Q24 A Q102 A
Q3 c Q103 A
Q4 B Q104 E
Q5 A Q105 B
Q6 D Q106 c
Q7 A Q107 D
Qs B Q108 A
Q9 A Q109 B
Q10 B Q110 D
Q11 A Q111 c
Q12 nC » Q112 A
Q13 " Q113 D
Q14 y 4 Q114 c
Q15 D Q115 E
Q16 c Q116 A
Q17 c Q117 c
Q18 B Q118 D
Q19 D Q119 B
Q20 A Q120 E
Q21 c Q121 c
Q22 B Q122 A
Q23 D Q123 c
Q24 E -Q 124 B
Q25 A Q125 c
Q26 D Q126 D
Q27 c Q127 D
Q28 c Q128 c
Q29 B Q128 B
Q30 c Q130 A
Q31 A Q131 B
Q32 A Q132 D
Q33 D Q133 E
Q34 A Q134 B
Q35 A Q135 A
Q36 c Q136 A
Q37 D Q137 i
Q38 c Q138 A
Q39 B Q139 D
Q40 D Q 140 D"
Q41 c Q141 ce@
Q42 D Q142 D
Q43 B Q143 A
Q44 D Q144 B
Q45 c Q145 B
Q46 B Q146 c
Q47 E Q147 D
Q48 c Q148 B
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!5' Which pazt of the heart is known a
blood t%ost whole body? S aorta to supply oxygenated

HEART AN OMY

(O

H
.‘v

CRE

86 Nams the part of lymphatic systerh marked as Xz
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L A. - Lymph nodes =~ :
B. Spleen ' w4 g (9
C. Thymus Q@\
D. Lymph duct ; . 0

E. Bone marrow




87. Which one of the following is related to defense system of huma
body?

A, "Red blood cells
——B. .White blood cells

C. Piatlets

D. Plasma

E. Beoth A andC

. 88. Protein layers\\n'lhich are NOT continuous on the surface make
percent of total in plasma membrane.

50-60 '

A.

B. 60-70
C. 60-80
D. 70-80
E. .70-90

89. Which part of the heart receives deoxygenated blood from whole
body?

“A. Right Auricle
B. Left Auricle
C. Right Ventricle
D. Left Ventricle
E. Aorta : . Sy ™

90. Albumins constitute _______ % of plasma proteins that help in
maintaining the colloid osmotic pressure of blood.

A. 10

B. 20

C. 25

D. 50 ; »

E. 75 ‘ &

91. Chromosomes present in the nucleus have function in
the cell. ; '

A. hereditary

B. secretory

C. power house

D. food synthesis

E. protein formation




52. Which of the following are'related to the synthesis of excretory
proteins by the cell? '

‘A. _gell membranes

B. ‘Réugh Endoplasmic Reticulum
C. Simooth Endoplasmic Reticulum ‘
D. Centrioles
'E. BothAandB '
93. Which of thes€ alphabets indicate presence of power house of the
cell? :

A. A
-B. B
* c. C 3 Ry
D. D .
E: E

94. The power of a microscope by whi.ch we can distingui
closely located points is termed as: guish two

“A. : Magnification

B. Resolution

C. Fixation

D. Electrophoresis

E. Ultracentrifugation

95. Due to the deficiency of hormone, synthesis of
glycogen gets depressed, gll.lcose level increases in'blood and
leads to a condition called Diabetes mellitus.

A. Oxytocin

B. Parathormone
C. Glucagon

D. Insulin

E. Cartisol
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96. During active mem conducts the 1

impulse in the form
Ay Axon
B. " Soma
C. 'Neuron

D. <CTytoplasm
E. Ribosome

brane potential,
of nerve impulse.

97. The most iniportant function of
- division in apical ineristem of young plants.

A. -Gibberéilines

hormone is cell

B. Ethyline .~
C. Cytokining
D. Auxins

E. Abscisic acis

98. Which of the following'is the mai

N transmitter for s
lies outside the central ne

ynapse that
fVous system? IS

A. Adrenaline

B. Nor-epinephrine
C. Serotonin

D. Dopamine

E: Acetylcholine

99. Which of the foll, '

ollowing muscles thai make t
are NOT prese

he walis of heart and
nt anywhere else in the pody? = 50
A.  Smooth Mmuscles .
Cardic muscles
Skeletal Muscles
D. VOIuntory Muscles
E. Both Aandc

100. When the muscle s r

€quired ¢ calcium i
| m Olecule = 0 Contract,

on binds with
Nd cayges them to mava slightly.
A. Actin
B. Myosin
C. Troponin
: E Tropomysin,

- ATP



L01. Which of the followlng are present In the > T—— organs tike
stomach, intestine etc.?

37

cC.‘C i
D. BothAandB ‘ :
v« E. BothAandC &

102. sarcoplasmic reticulum ia‘ﬁke endoplasmic reticulum but dévoid
of and exhibifirmghly specialized
pattern. 2 A

2 U

o
oG

A. Ribosome, repeating *
B. Mitochondrion, repeatifig’

C. Ribosome, simplified N
D. Mitochondrion, simplified | .
E. Ribosome, zig zag

2

103, I7 we cross round yellow seeded plaﬁ%"with green wrinkled

A, 9:3:3:1
B. 9:4:3:2

, €5 3392321
D. 8:3:3:2
E. 9:1:3:3

104. If we cross round (RR) seeded plants with erﬁ)kie o T
plant, and get F1 round seeded. In F2 generation,what will be
genotypic ration of plants by Punnet square method?

e

A, 3 : = 2
B. 11 _ o

C. 2:1 . :,,_\/
D. 1:1:2 l : 2 )\ﬂpi_,
E. 1:2:1 &










113y The cell A, In the given figure is:

Mitozsis
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'/A. . Gametophyte

B Oogonium

C. Sperm

D. Spermatocyte :

E. Spermatid o \\ ST
- 114, Menstruation is the shedding of the Imlng of the uterus
(endometrium) accompanied by

A. Shivering
B.. Fever

C. Bleeding
D. Vomiting
E. Headache

115. Which of the following is the constituent.of RNA molecule?

A. Fatty acids
.. B. Riboluse
C.. Ascorbic acid "%
D. Deoxyribonucleic acid
E. Ribonucleic acid |



16. Whicfj‘fi)’)f the following are instant source of energy in living
orga;{ws, like glucose? Their general formula is:

A. C 'HzO)y
B. E;g“:lcszG
C. Cx(H20)x
D. Cx(HOH ¥
E. Cx(H 3 2)9\

117. Which of the foﬁéyﬁgjﬁg are the most prominent part of cell
membranes in living organisms?

A. Terpenoids .~
B. Waxes v,
C. Phospholipids™
D. Acylgiycerols .\
E. Polysaccharides .

118. The structure given belo&i‘fjﬁ;ﬁe constituent part of:

RSO ey L RIS L YV,-»
'H: .LC;/‘—*
. ™
A. Lipids-
B. Carbohydrates o
C. Vitamins . L
D. Proteins . 4
E. Nucleic acids Crge
119. In pressure flow theory, when water movééﬁut of sieve tube
cells by osmosis, it lowers the Y W
A. Solute Potential "‘;,;i;;’j’;f‘
B. Hydrostatic Pressure e
~ C. Water Potential , L
D. Source Concentration , Ce?
E. Rate of Transpiration <O
3
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120. quporatlon of water from the aerial parts of the plants,
especially through the stomata of the leave creates a force
wiiich)is cause of water movement in higher plant s

A. < Root pressure

B. ecave pressure

C. Imbikitions

D. Transpiration
E. Transpiration Pull

121. Which of the following reduces the rate of transpiration by
adaptations in x€rophytes?

5

- A. Large suiiace area of leaves
B. Increase number of stomata
C. Thick waxy cuticle
D, Excessive loss of water
E. Stomata on both-sides of leaves

122. Which of the following types of transpiration account for 5-7%
of total transpiration that take place in plants?

A. Cuticular
B. Lenticular

C. Stomatal \\ .
D. Leaves
E. Stem

123. Vocal cords, which help in voice prgduction are two thin edged
fibrous bands, present in: 3

A. Glottis . \
.~B. Bronchis : &’

C. Larynx '

D. Trachea

E. Pleura

124. The causing agent of the tuberculosis that grow’s very well in
poor living conditions and malnutrition is:

A. Spirobacterium
—B. Mycobacterium
- €, E.Cqli
D. Staphylococcus
E. Pseudomonas

’
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s
2 'irsh:e most important cause of many of the respiratory disorders
A. "Basterial infection
B. Follution
C. Smeking
D. Drinking
E. Radiations

126. Hemoglobin ca#h absorb maximum oxygen at sea level, which is

___mi/100mlaf blood.
A. 15 - ,
B. 19
C. 19.6
D. 20-,
E. 25

127. Which of the following part of urinary system temporarily stores
urine, and releases it when filled?

lg(t renal Q('ei_;_i
44

right renal artey
1

right renal vein =~ < left renal artey

A, I
B. II
c. III
D. 1V

E. V




128'.%252;& one of the following is hypertonic solution to cells presel#

<
o g
l}.’k_, 3
: !
A &
B. B
'c. c @

D. Both A and B‘
E. BothCandD v . 2

129. Humans maintain their“l@ez_l,y temperature within a narrow limit

due to their e characteristics,
A. Ectothermic
B. Endothermic N,
C. Heterothermic s \\‘\“"
D. Hypothermic YN
E. Hyperthermic \\ _
130. Human body maintains all of its ce!h__,\_ to internal body
fluid. o
A. Isotonic &
B. Hypotonic A ' e
C. Hypertonic : «;
D. Hyposmotic I R~
E. Hyperosmotic <
cell clone?
A. Acell :
B. Bcells
C. Fcells o
D. Tcells p

E. Zcells
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